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4. False.  The procedure depends upon the distribution of the sample mean being (at least approximately)  normal. For small samples this occurs only when the underlying distribution is normal. 

10. Let X be the track length (which is assumed to be normally distributed), in m. For the sample, 
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. Then a 99% confidence interval for the mean track length is 
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12. Let X be the percent toluene removed (which is assumed to be normally distributed). For the sample, 
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. Then a 95% confidence interval for the mean percent of toluene removed is 
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